sauder.com I'E:I SAUDER’

The original desktop.

PO GGOOCOCOPPNPPP00000000000000000000000 ¢

Corner Computer Desk

412003

NOTE: THIS INSTRUCTION
BOOKLET CONTAINS IMPORTANT
SAFETY INFORMATION.

Need help? Visit Sauder.com to view video assembly tips or chat with a live rep. PLEASE READ AND KEEP FOR
Prefer the phone? Call 1-800-523-3987. FUTURE REFERENCE.

English pg 1-18
Francais pg 19-21

Lot # 358595 01/23/14
Purchased:

You . .
0 Q @ Be sure to give us a ring before
making any returns. 1-800-523-3987




Table of Contents

Part |dentification

Hardware Identification

Assembly Steps

Francais

Safety

Warranty

Page 2

5-18

19-21

22

23

412003

Assembly Tools Required

No. 2 Phillips Screwdriver
Tip Shown Actual Size

Hammer

Not actual size @

Skip the power trip.
This time.

www.sauder.com/services



) . N k
Part |dentification our ABCs.

8] c/

¥ While not all parts are labeled, some of the parts will have a label or an inked letter on the edge
to help distinguish similar parts from each other. Use this part identification to help identify similar parts.

A END(2) G  RIGHT FRONT LEG (1) M KEYBOARD SIDE (2)

B RIGHT END(1) H  LEFT FRONT LEG (1) N ' KEYBOARD SHELF (1)
C  LEFT UPRIGHT (1) | RIGHT REAR LEG (1) O DRAWER UPRIGHT (2)
D TOP(1) J LEFT REARLEG (1) P SHELF MOLDING (2)
E  SHELF (2) K KEYBOARD FRONT (1)

F BACK(2) L KEYBOARD BACK (1)

L
/
N\
G

www.sauder.com/services 412003 Page 3



Hardware |dentification

¥ Screws are shown actual size. You may receive extra hardware with your unit,

CABINET RIGHT -1 CABINET LEFT -1 @ DRAWER RIGHT -1 DRAWER LEFT -1

E25

@ HIDDEN CAM - 31 @ CAM SCREW - 16

@ HINGE - 2 @ KNOB - 1 @ CAM COVER - 4

BROWN 1-1/2" FLAT HEAD SCREW - 4

BLACK 7/8" MACHINE SCREW -1

@ SILVER 5/8" FLAT HEAD SCREW - 4 @ SILVER 9/16" LARGE HEAD SCREW - 2

) Do ([mw

@ GOLD 5/16" FLAT HEAD SCREW - 8

©

Page 4 412003 www.sauder.com/services




www.sauder.com/services/tips

Look for this icon. It means a
Ste p 1 video assembly tip is available at

hO

¥ Assemble your unit on a carpeted floor or on the empty
carton to avoid scratching your unit or the floor.

¥ Push thirty-one HIDDEN CAMS (U2) into the ENDS (A),
UPRIGHTS (B and C), SHELVES (E), BACKS (F), DRAWER Arrow
UPRIGHTS (O), and SHELF MOLDINGS (P). Then insert
the metal end of fifteen CAM DOWELS (W2) into the
HIDDEN CAMS.

Do not insert
CAM DOWELS
into these parts.

Do not tighten the HIDDEN
CAMS in this step.

Do not insert
CAM DOWELS
into these edges.

Insert the metal end of the CAM
DOWEL into the HIDDEN CAM.

www.sauder.com/services 412003 Page 5



Step 2

hO

! Turn sixteen CAM SCREWS (V2) into the LEGS (G, H, |, and J).

? Remember:
2 Righty tighty.
Lefty loosey.

Page 6 412003 www.sauder.com/services



Step 3

hO

¥ Fasten the CABINET RIGHT (35GA) and CABINET
LEFT (35GB) to the DRAWER UPRIGHTS (O). Use
four GOLD 5/16” FLAT HEAD SCREWS (GG) through
holes #1 and #3.

@ @ ~

(4 used in this step)

@% Roller end
i3>
GOLD 5/16" FLAT HEAD SCREW /

Use the second hole.

Roller end

Use the second hole.

www.sauder.com/services 412003 Page 7



Step 4

hO

¥ Fasten the LEGS (G, H, |, and J) to the ENDS (A) and
SHELF MOLDINGS (P). Tighten eight HIDDEN CAMS.

Surface with HIDDEN CAMS

Edge with CAM DOWELS

Surface with HIDDEN CAMS

Page 8 412003 www.sauder.com/services



Step 5

hO

¥ Fasten the SHELVES (E) and BACKS (F) to the LEGS (G,
H, |, and J). Tighten eight HIDDEN CAMS.

www.sauder.com/services 412003 Page 9



Step ©

hO

¥ Fasten the LEFT UPRIGHT (C) to the RIGHT UPRIGHT (B).
Tighten three HIDDEN CAMS.

Side Step: Make
nachos. (Optional, but
recommended.)

Finished edge

A Caution Start Tighten o
==

Risk of damage or
injury. HIDDEN CAMS Arrow
must be completely

tightened. HIDDEN Maximum

CAMS that are not 210 degrees
completely tightened N
may loosen, and parts N
may separate. To Minimum
completely tighten: 190 degrees

Page 10 412003 www.sauder.com/services



Step 7

hO

Fasten the UPRIGHTS (B and C) to the TOP (D). Tighten
four HIDDEN CAMS.

Short unfinished edge

Maximum Arrow

210 degrees /
\ V4

Minimum

190 degrees

www.sauder.com/services 412003 Page 11



Step 8

hO

¥ Fasten the SHELVES (E) and BACKS (F) to the
UPRIGHTS (B and C). Use eight BLACK 1-7/8” FLAT

HEAD SCREWS (AA).
X Fasten the ENDS (A) to the TOP (D). Tighten four Maximum Arrow
HIDDEN CAMS. 210 degrees
./
Minimum
190 degrees

H
Ne

J
N

e

®
F
(AF)

@ (e

BLACK 1-7/8" FLAT HEAD SCREW
(8 used in this step)

Page 12 412003 www.sauder.com/services



Step 9

Fasten the DRAWER UPRIGHTS (O) to the TOP
Tighten four HIDDEN CAMS.

(D).

I

www.sauder.com/services

Roller end

412003

Maximum
210 degrees

Minimum
190 degrees

hO

Arrow

./

Page 13



Step 10

* Fasten the KEYBOARD SIDES (M) to the KEYBOARD SHELF (N).
Use two BROWN 1-1/2” FLAT HEAD SCREWS (BB).

X Fasten the KEYBOARD SIDES (M) to the KEYBOARD BACK (L).
Use two BROWN 1-1/2” FLAT HEAD SCREWS (BB).

! Fasten the KEYBOARD BACK (L) to the KEYBOARD SHELF (N).
Use two BLACK 1-1/4” FLAT HEAD SCREWS (CC).

These surfaces should be the same color. @

BLACK 1-1/4" FLAT HEAD SCREW
(2 used in this step)

Long finished edge

@ »\\\\\\\\\\ BB HILLH

BROWN 1-1/2" FLAT HEAD SCREW
(4 used in this step)

Page 14 412003 www.sauder.com/services



Step 11

¥ Fasten two HINGES (X) to the KEYBOARD FRONT (K).
Use four SILVER 5/8” FLAT HEAD SCREWS (EE).

Fasten the HINGES (X) to the KEYBOARD SHELF (N).
Use two SILVER 9/16” LARGE HEAD SCREWS (FF).

SILVER 5/8" FLAT HEAD SCREW SILVER 9/16" LARGE HEAD SCREW
(4 used in this step) (2 used in this step)

www.sauder.com/services 412003 Page 15



Step 12

hO

* Fasten the DRAWER RIGHT (35GC) and DRAWER LEFT (35GD)
to the KEYBOARD SIDES (M). Use four GOLD 5/16" FLAT
HEAD SCREWS (GG) through holes #1 and #3.

¥ Fasten a KNOB (Y) to the KEYBOARD FRONT (K). Use a
BLACK 7/8" MACHINE SCREW (DD).

Roller end

e

@ oo Y

BLACK 7/8" MACHINE SCREW
(1 used for the KNOB)

@ b —)

GOLD 5/16" FLAT HEAD SCREW
(4 used for the DRAWER SLIDES)

Page 16 412003 www.sauder.com/services



Step 13

Carefully stand your unit upright.

To insert the keyboard shelf into your unit, tip the front of
the shelf down and drop the rollers on the shelf behind
the rollers on the unit. Lift the front of the shelf up and
slide it into the unit.

¥ To make adjustments to the KEYBOARD FRONT (K), @ Almost time to

loosen the SCREWS in the HINGES, make needed -
’ lebrate! With .
adjustments, and tighten the SCREWS. celebrate: WWith a nap

]
—

www.sauder.com/services 412003 Page 17



Step 14

Push a CAM COVER (Z) onto each visible HIDDEN CAM

NOTE: Please read the next two pages for important
warranty and safety information.

¥ This completes assembly. Clean with your favorite
furniture polish or a damp cloth. Wipe dry.

To cover HIDDEN CAMS |

Page 18 412003 www.sauder.com/services



Utilisez les instructions dassemblage en francais avec les
schémas étape par étape du manuel dinstruction en anglais.
Chaque étape en francais correspond a la méme étape

en anglais. La piéce devant étre attachée a lélément est
représentée en gris sur les schémas de chaque étape pour plus
de précision. Comparer la “Liste de pieces” ci-dessous avec

la “PART IDENTIFICATION” du manuel en anglais pour vous
familiariser avec les pieces avant lassemblage.

REMARQUE : CE MANUEL D'INSTRUCTIONS CONTIENT
D’IMPORTANTES INFORMATIONS RELATIVES A LA SECURITE.
A LIRE ET CONSERVER POUR TOUTE REFERENCE FUTURE.

412003

Bureau dordinateur dangle

NOUS SOMMES LA POUR VOUS AIDER!
Nous faisons de notre mieux pour nous assurer que votre meuble
arrive dans d'excellentes conditions. Nos représentants du service
Clientele sont aimables et préts a vous aider au cas oU une piece
aurait été endommagée ou manquerait (ou si vous aviez besoin
daide pour lassemblage). NE RAMENEZ PAS LE MEUBLE AU
MAGASIN. Au Canada, composez ce numéro dappel gratuit:

1-800-523-3987

Du lundi au vendredi, de 9 heures du matin a

5:30 heures du soir (horaire Cote Est)
(sauf jours fériés)

Si une piéce a besoin d'étre remplacée, la piece de remplacement
sera envoyée dans les 48 heures. (Sauf week-ends et jours fériés)

A lusage exclusif du
Canada Noter la date

dachat de cet élément

et conserver le livret
pour future référence.

Pour contacter Sauder
en ce qui concerne cet
élément, faire référence

au numéro de lot et

numéro de modéle en
appelant notre numéro

sans frais.
Lotn®:

Date de
lachat:

www.sauder.com/services

LISTE DE PIECES

LISTE DE PIECES

REFERENCE DESCRIPTION QUANTITE | REFERENCE DESCRIPTION QUANTITE

A EXTREMITE 2 35GA GLISSIERE DROITE DELEMENT.....

B MONTANT DROIT 1 35GB GLISSIERE GAUCHE D’ELEMENT

C  MONTANT GAUCHE 1 35GC COULISSE DROITE DE TIROIR....o. 1

D  DESSUS 1 35GD COULISSE GAUCHE DE TIROIR.......cocc...c. 1

E  TABLETTE 2 U2 EXCENTRIQUE ESCAMOTABLE........... 31

F ARRIERE 2 V2 VIS DEXCENTRIQUE 16

G PIED AVANT DROIT 1 W2  CHEVILLE D'EXCENTRIQUE........oor 15

H  PIED AVANT GAUCHE ..o 1 CHARNIERE 2

| PIED DROIT ARRIERE 1 BOUTON 1

J PIED GAUCHE ARRIERE 1 COUVERCLE D’EXCENTRIQUE............. 4

K DEVANT DE TABLETTE AA VIS NOIRE TETE PLATE 48 mm........... 8
DE CLAVIER 1 BB VIS MARRON TETE PLATE 38 mm.

L ARRIERE DE TABLETTE CC VIS NOIRE TETE PLATE 32 MM
DE CLAVIER 1 o

M COTE DE TABLETTE DD VIS NOIRE A /MET:AUX 22 MM 1
DE CLAVIER > EE VIS ARGENTEE TETE PLATE 16 mm......4

N TABLETTE DE CLAVIER FF VIS ARGENTEE TETE LARGE 14 mm......2
MONTANT DE TIROIR GG VIS DOREE TETE PLATE 8 mm.............. 8

P MOULURE DE TABLETTE oo 2

412003

Page 19



ETAPE 1

Ne pas serrer les EXCENTRIQUES ESCAMOTABLES dans cette étape.

Enfoncer trente et un EXCENTRIQUES ESCAMOTABLES (U2) dans

les EXTREMITES (A), les MONTANTS (B et C), les TABLETTES (E), les
ARRIERES (F), les MONTANTS DE TIROIR (O) et les MOULURES DE
TABLETTE (P). Insérer ensuite quinze CHEVILLES D'EXCENTRIQUE (W2)
dans les EXCENTRIQUES ESCAMOTABLES.

ETAPE 2

Faire tourner seize VIS D’EXCENTRIQUE (V2) dans les PIEDS (G,
H, et ))

ETAPE 6

Fixer le MONTANT GAUCHE (C) au MONTANT DROIT (B). Serrer
trois EXCENTRIQUES ESCAMOTABLES.

Attention

Risque des dégéts ou blessures. Les Excentriques Escamotables
doivent étre serrés a bloc. Les Excentriques Escamotables que ne
sont pas serrées a bloc peuvent desserrer et les piéces peuvent
séparer. Pour serrer a bloc, faire tourner lexcentrique escamotable
de 210 degrés.

ETAPE 3

Fixer 'ELEMENT DROITE (35GA) et lELEMENT GAUCHE (35GB)
aux MONTANTS DE TIROIR (O). Utiliser quatre VIS DOREES TETE
PLATE 8 mm (GG) a travers les trous 1et 3.

ETAPE 7

Fixer les MONTANTS (B et C) au DESSUS (D). Serrer quatre
EXCENTRIQUES ESCAMOTABLES.

ETAPE 4

Fixer les PIEDS (G, H, | et J) aux EXTREMITES (A) et MOULURES DE
TABLETTE (P). Serrer huit EXCENTRIQUES ESCAMOTABLES.

ETAPE 8

Fixer les TABLETTES (E) et ARRIERES (F) aux MONTANTS (B et C).
Utiliser huit VIS NOIRES TETE PLATE 48 mm (AA).

Fixer les EXTREMITES (A) au DESSUS (D). Serrer quatre
EXCENTRIQUES ESCAMOTABLES.

ETAPE 5

Fixer les TABLETTES (E) aux ARRIERES (F) et PIEDS (G, H | et J).
Serrer huit EXCENTRIQUES ESCAMOTABLES.

Page 20

ETAPE 9

Fixer les MONTANTS DE TIROIR (O) au DESSUS (D). Serrer
quatre EXCENTRIQUES ESCAMOTABLES.

412003

ETAPE 10

Fixer les COTES DE TABLETTE DE CLAVIER (M) & la TABLETTE DE
CLAVIER (N). Utiliser deux VIS MARRON TETE PLATE 38 mm (BB).

Fixer les COTES DE TIROIR (M) & 'ARRIERE DE TIROIR (L).
Utiliser deux VIS MARRON TETE PLATE 38 mm (BB).

Fixer PARRIERE DE TABLETTE DE CLAVIER (L) & la TABLETTE DE
CLAVIER (N). Utiliser deux VIS NOIRES TETE PLATE 32 mm (CC).

Www.sauder.com/services



ETAPE 11

Fixer deux CHARNIERES (X) au DEVANT DE TABLETTE DE CLAVIER (K).
Utiliser quatre VIS ARGENTEES TETE PLATE 16 mm (EE).

Fixer les CHARNIERES (X) a la TABLETTE DE CLAVIER (N). Utiliser
deux VIS ARGENTEES TETE LARGE 14 mm (FF).

ETAPE 12

Fixer le TIROIR DROIT (35GC) et le TIROIR GAUCHE (35GB) aux
COTES DE TIROIR (M). Utiliser quatre VIS DOREES TETE PLATE
8 mm (GG) a travers les trous 1 et 3.

Fixer un BOUTON (Y) au DEVANT DE TABLETTE DE CLAVIER (K).
Utiliser une VIS NOIRE A METAUX 22 mm (DD).

www.sauder.com/services

ETAPE 13

Relever, avec précaution, élément dans sa position verticale.

Pour insérer la tablette de clavier dans l'élément, abaisser le
devant de la tablette et faire passer les roulettes qui sont sur la
tablette derriere les roulettes situées sur lélément. Relever le
devant de la tablette et l'enfiler dans lélément.

Pour ajuster le DEVANT DE TABLETTE DE CLAVIER (K) , desserrer
les VIS des CHARNIERES, ajuster et serrer les VIS.

ETAPE 14

Enfoncer un COUVERCLE D’EXCENTRIQUE (Z) sur chaque
EXCENTRIQUE ESCAMOTABLE visible.

REMARQUE : Priére de lire les deux pages suivantes pour connaitre
des informations importantes relatives a la garantie et a la sécurité.

Ceci compléte lassemblage. Pour nettoyer, utiliser lencaustique
pour meubles préférée ou un chiffon humide. Essuyer.

412003 Page 21



A WARNING

Please use your furniture correctly and safely. Improper use can cause safety hazards,

or damage to your furniture or household items. Carefully read the following chart.

Look out for:

« Overloaded shelves and drawers.
« Improper loading can cause the product
to be top-heavy.

e Improperly moving furniture that is not
designed and equipped with casters.

« Placing TVs on furniture items that are
not designed to support a television is
hazardous.

What can happen:

* Risk of injury.

e Top-heavy furniture can tip over.

« Overloaded shelves and drawers can
break.

« Furniture can tip over or break if
improperly moved.

» Physical injury. Furniture can be very
heavy.

« Breakage of tops - particularly with
double pedestal furniture (drawers at both
ends).

» Risk of injury or death. TVs can be very
heavy. Plus the weight and location of the
picture tube tends to make TVs unbalanced
and prone to tipping forward.

A AVERTISSEMENT

How to avoid the problem:

» Never exceed the weight limits shown in
the instructions.

» Work from bottom to top when loading
shelves and drawers. Place the heavier
items on the lower shelves or in lower
drawers.

« Unload shelves and drawers from top to
bottom before moving the unit.

« Do not push furniture, especially on a
carpeted floor. Have a friend help you lift
the item and set it in place.

« Provide support to the center section of
the top when lifting the furniture.

e This product is not designed to support a
television.

Priere d'utiliser le mobilier a bon escient et avec prudence. Une mauvaise utilisation peut étre a lorigine de risques

daccident ou peut endommaer le mobilier et les articles ménaers. Lire attentivement le tableau suivant.

A surveiller :

« Tablettes et tiroirs surchargés.
» En cas de chargement inadéquat
['élément peut étre lourd du haut.

» Déplacement inadéquat d'un mobilier qui
n'est pas congu pour avoir des roulettes et
n'en est pas équipé..

« || est dangereux de placer des téléviseurs
sur des meubles que ne sont pas prévus a
cet effet.

Page 22

Danger éventuel :

* Risque de blessure.

» Du mobilier mal équilibré risque de se
renverser.

« Tablettes et tiroirs surchargés risquent de
casser.

« Le mobilier risque de se renverser ou de
casser en cas de déplacement inadéquat.
* Blessure physique. Le mobilier peut étre
tres lourd.

« Défaillance des dessus surtout avec les
éléments de double piédestaux (tiroirs en
chaque extrémité).

» Risque de blessures graves, voire mortelles.
Les téléviseurs peuvent étre particulierement
lourds. De plus, le poids et lemplacement

du tube image ont tendance a rendre les
téléviseurs instables et enclins a tomber vers
lavant.

412003

Solution :

 Ne jamais excéder les limites de poids
indiquées dans les instructions.

« Pour charger les tablettes et tiroirs,
commencer par remplir celui du bas pour
finir par celui du haut. Placer les articles
plus lourds sur les tablettes inférieures ou
dans les tiroirs inférieurs.

« Décharger les tablettes et tiroirs en
commencant par celui du haut avant de
déplacer élément.

 Ne pas pousser le meuble, surtout sur
la moquette. Se faire aider par une autre
personne pour soulever ['élément et le
mettre en place.

« Supporter la section centrale du dessus
lorsque lon souléve le meuble.

« Ce produit n'est pas destiné a supporter
un téléviseur.

www.sauder.com/services



5-YEAR LIMITED WARRANTY

1. Sauder Woodworking Co. (Sauder®) provides limited warranty coverage to the
original purchaser of this product for a period of five years from the date of purchase
against defects in materials or workmanship of Sauder furniture components.

As used in this Warranty, “defect” means imperfections in components which
substantially impair the utility of the product. This Warranty gives you specific legal
rights, and you may also have other rights which vary from state to state.

2. There is no warranty coverage for defects or conditions that result from the failure
to follow product assembly instructions, information or warnings, misuse or abuse,
intentional damage, fire, flood, alteration or modification of the product, or use of the
product in a manner inconsistent with its intended use, nor any condition resulting
from incorrect or inadequate maintenance, cleaning, or care. There is also no
warranty coverage for rented products or any products purchased “used” or “as is”, at
a distress or going-out-of business sale, or from a liquidator.

3. As the exclusive remedy under this Warranty, Sauder will (at its sole option) repair
or replace any defective furniture component. Sauder may require independent
confirmation of the claimed defect and proof of purchase. Replacement parts will be
warranted for only the remaining period of the original Warranty. SAUDER SHALL
HAVE NO LIABILITY for ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES OF
ANY KIND and all such damages are EXCLUDED FROM THIS WARRANTY, such

as loss of use, disassembly, transportation, labor or damage to property on or near
the product. Some states do not allow the exclusion or limitation of incidental or
consequential damages, so the above limitation or exclusion may not apply to you.

GARANTIE LIMITEE DE 5 ANS

1. Sauder Woodworking Co. (Sauder®) offre une couverture de garantie limitée a lacheteur
initial du présent produit pendant une période de cing ans & compter de la date dachat
contre tout défaut de matériaux ou de fabrication des composantes de mobilier Sauder.
Le mot « défaut », tel quiil est utilisé sous les termes de la présente garantie, comprend
les imperfections des pieces qui empéchent substantiellement ['utilisation du produit. La
présente garantie vous donne des droits légaux spécifiques et il est possible que vous
ayez des droits supplémentaires variant d'Etat en Etat ou de province en province.

2. La présente garantie ne saurait couvrir les défauts ou conditions qui surviendraient a la
suite du non respect des instructions, informations ou mises en garde de montage, dune
mauvaise Utilisation ou dun abus, dun dommage intentionnel, dun incendie, dune inondation,
dune altération ou modification du produit, dune utilisation du produit allant a lencontre de
son usage prévu, ni aucune condition résultant dune maintenance, dun nettoyage ou dun
entretien inappropriés ou inadéquats. De plus, il n'existe aucune garantie pour les produits
loués ou tous les produits achetés « doccasion » ou « en [état », dans le cadre dune vente
aux enchéres ou de solde pour cessation de commerce, ou auprés d'un liquidateur.

3. En tant que recours exclusif en vertu de la présente garantie, Sauder réparera

ou remplacera (sur sa seule décision) toute composante de mobilier défectueuse.
Sauder peut exiger une confirmation indépendante du défaut revendiqué ainsi
qu'une preuve dachat. Les piéces de rechange seront garanties uniquement pendant
la période restante de la garantie originale. SAUDER NE SERA EN AUCUN CAS
RESPONSABLE de TOUT DOMMAGE ACCESSOIRE QU CONSECUTIF DE TOUTE
SORTE et lesdits dommages sont EXCLUS DE LA PRESENTE GARANTIE, & savoir
perte d'utilisation, démontage, transport, main d'ceuvre ou dommages matériels sur
ou & proximité du produit. Certains Etats ou provinces ne permettant pas lexclusion
ou la limite aux responsabilités pour dommages accidentels ou consécutifs, la limite
ou lexclusion ci-dessus peut ne pas étre applicable.

www.sauder.com/services

4. This Warranty applies only to warranted defects that first arise and are reported to
Sauder within the warranty coverage period. The Warranty cannot be transferred to
subsequent owners or users of the product, and it shall be immediately void in the
event the product is resold, transferred, leased or rented to any third party or person
other than the original purchaser.

5. THERE ARE NO OTHER WARRANTIES APPLICABLE TO THIS PRODUCT. Under
the laws of certain states, there may be no implied warranties from Sauder and all
implied warranties, INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY
OR FITNESS FOR A PARTICULAR PURPOSE are disclaimed where allowed by law.
TO THE EXTENT ANY IMPLIED WARRANTIES ARE APPLICABLE, ANY IMPLIED
WARRANTIES, INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY OR
FITNESS FOR A PARTICULAR PURPOSE, ARE LIMITED IN DURATION TO THE
DURATION OF THIS EXPRESS WARRANTY or the minimum period allowed by law,
whichever is shorter. Some states do not allow limitations on how long an implied
Warranty lasts, so the above limitation may not apply to you.

6. For Warranty inquiries or claims, please visit our website www.sauder.com.

You can also contact Sauder at 1-800-523-3987. Sauder may require Warranty
claims to be submitted in writing to Sauder Woodworking Co, 502 Middle Street,
Archbold, OH 43502 USA. Please include your sales receipt or other proof of
purchase and a specific description of the product defect.

4. La présente garantie ne sapplique quaux défauts garantis qui se produisent pour
la premiére fois et qui sont signalés a Sauder dans les limites de ouverture de la
garantie. La garantie ne peut pas étre transférée a des propriétaires ou utilisateurs
subséquents du produit, et sera immédiatement invalidée dans le cas ouU le produit
est revendy, transféré, loué sous bail ou loué a une tierce partie ou personne autre
que tacheteur orlglnal

5. IL NEXISTE AUCUNE AUTRE GARANTIE EN VIGUEUR POUR LE PRESENT PRODUIT.
En vertu des lois de certains Etats ou provinces, il ne peut y avoir de garanties implicites
de la part de Sauder et toutes les garanties implicites, Y COMPRIS TOUTE GARANTIE
IMPLICITE DE COMMERCIABILITE OU DADAPTATION A UN USAGE PARTICULIER
sont déclinées partout ou la loi lautorise. DANS LA MESURE OU TOUTE GARANTIE
IMPLICITE EST APPLICABLE, TOUTE GARANTIE IMPLICITE, Y COMPRIS TOUTE
GARANTIE DE COMMERCIABILITE QU D'ADAPTATION A UN USAGE PARTICULIER,
EST LIMITEE A LA DUREE DE LA PRESENTE GARANTIE EXPRESSE ou 4 la période
minimum autorisée par la loi, la période la plus courte étant retenue. Certains Etats

ne permettant pas que des limites soient imposées quant a la durée d'une garantie
implicite, la limite ci-dessus peut donc ne pas étre applicable.

6. Pour toute question concernant la garantie ou toute demande de réclamation,
consulter le site Web www.sauder.com. Il est également possible de contacter Sauder
en composant le 1-800-523-3987. Sauder peut exiger de soumettre les demandes
de réclamation sous garantie par écrit & Sauder Woodworking Co, 502 Middle Street,
Archbold, OH 43502 USA. Veuillez joindre votre ticket de caisse ou toute autre preuve
dachat ainsi qu'une description spécifique du défaut de produit.

412003 Page 23



Dear Valued Customer:

Thanks so much for choosing Sauder® furniture. | hope the
purchase and assembly process was a positive experience
and you feel good about the furniture you just built. If you
need assistance or want to learn more, please contact our
award-winning, Ohio-based customer service team at
800-523-3987 or Sauder.com.

My grandfather, Erie Sauder, founded the company in 1934
and later invented and patented the first commercially
successful ready-to-assemble tables. We strive to hold true
to his core values of innovation, integrity, servanthood and
stewardship.

Sauder products are made with environmentally
responsible materials and world-class manufacturing
processes. Our 2,000+ dedicated employees in Archbold,
Ohio, along with our global manufacturing partners, are
committed to providing you furniture with great value, style
and quality.

From our family to you. Enjoy!

Kevin J. Sauder
President/CEQ

TE:I SAUDER

So, how did it go?

Set a world record for speed?
Feeling good about yourself?
Nice. Get social with it on any
of these quality share sites.

00006

And don't forget to rate and
¢ review your piece at Sauder.com
in the product detail page.

Register your new
product online

For immediate service, our website is available

24 hours per day, seven days per week, to order
replacement parts, access assembly tips, register your
product and view Sauder products. www.sauder.com

Customer Services in United States and Canada
Monday through Friday - 9 am. to 5:30 p.m. ET
(except holidays) 1-800-523-3987

General Certificate of Conformity

1. This certificate applies to the Sauder Woodworking
Product identified by this Instruction Book.

2. This certificate applies to compliance of this
product with the CPSC Ban on Lead-Containing
Paint (16 CFR 1303).

3. This product is manufactured by:

Sauder Woodworking Company
502 Middle St.
Archbold, OH 43502

419-446-271
4. Date of Manufacture: September 2014

g‘ Made in USA
[ with US. and imported materials




	date: September  2014  


